

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





**Department of Administration Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# State of West Virginia **Solicitation Response**

**Proc Folder:** 1670123

**Solicitation Description:** WVDOT Networking Equipment (81250100)

**Proc Type:** Central Purchase Order

**Solicitation Closes Solicitation Response** Version 2025-05-08 13:30 SR 0803 ESR04302500000006628 1

**VENDOR** 

000000113184 **REXEL USA INC** 

**Solicitation Number:** CRFQ 0803 DOT2500000061

**Total Bid: Response Date:** Response Time: 173650 2025-04-30 09:40:06

Comments:

FOR INFORMATION CONTACT THE BUYER

John W Estep 304-558-2566 john.w.estep@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

FORM ID: WV-PRC-SR-001 2020/05 Date Printed: May 9, 2025 Page: 1

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Extreme Networks 5420M Universal Switch - 48 Port or equal	25.00000	EA	4470.000000	111750.00

Comm Code	Manufacturer	Specification	Model #	
43222609				

# **Commodity Line Comments:**

# **Extended Description:**

3.1.1 Extreme Networks 5420M Universal Switch - 48 Port, Part Number 5420M-48W-4YE- or equal. Includes (1) one-year XIQ Pilot Cloud Subscription

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Extreme Switching Power Supply - AC - 920 Watt or equal	50.00000	EA	548.000000	27400.00

Comm Code	Manufacturer	Specification	Model #	
43222612				

# **Commodity Line Comments:**

# **Extended Description:**

3.2.1 Extreme Switching Power Supply - AC - 920-Watt, Part Number XN-ACPWR-920W or equal.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Extreme Networks 20GBase direct attach cable - 0.5 m or equa	30.00000	EA	152.000000	4560.00

Comm Code	Manufacturer	Specification	Model #	
43222612				

# **Commodity Line Comments:**

# **Extended Description:**

3.2.2 Extreme Networks 20GBase direct attach cable - 0.5m, Part Number 20G-DACP-SFPDDZ5M or equal

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Extreme Networks 20GBase direct attach cable - 1 m or equal	10.00000	EA	168.000000	1680.00

Comm Code	Manufacturer	Specification	Model #	
43222612				

# **Commodity Line Comments:**

# **Extended Description:**

3.2.3 Extreme Networks 20GBase direct attach cable - 1m, Part Number 20G-DACP-SFPDD1M or equal.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Extreme Networks 10302 Comp 10GBASE- LR SFP+XCVR Module or eq	30.00000	EA	942.000000	28260.00

Model #	Specification	Manufacturer	Comm Code
			43222612

# **Commodity Line Comments:**

 Date Printed:
 May 9, 2025
 Page: 2
 FORM ID: WV-PRC-SR-001 2020/05

# **Extended Description:** 3.2.4 Extreme Networks 10302 Compatible 10GBASE-LR SFP+ Transceiver Module, Part Number 10302 or equal.

 Date Printed:
 May 9, 2025
 Page: 3
 FORM ID: WV-PRC-SR-001 2020/05

# EXHIBIT A - PRICING PAGE CRQS DOT25\*0039

# LOCATION - BUILDING 5, ROOM A-720 CHARLESTON, WV 25305

Specifications Reference	Contract Item Number	Description	Part Number or Equal	Quantity	Unit Cost	Extended Price Total
3.1.1	#1	Extreme Networks 5420M Universal Switch - 48 Port or equal	5420M-48W-4YE or equal	25	\$4,470.00	\$111,750.00
3.2.1	#2	Extreme Switching Power Supply - AC - 920 Watt or equal	XN-ACPWR-920W or equal	50	\$548.00	\$27,400.00
3.2.2	#3	Extreme Networks 20GBase direct attach cable - 0.5 m or equal	20G-DACP-SFPDDZ5M or equal	30	\$152.00	\$4,560.00
3.2.3	#4	Extreme Networks 20GBase direct attach cable - 1 m or equal	20G-DACP-SFPDD1M or equal	10	\$168.00	\$1,680.00
3.2.4	#5	Extreme Networks 10302 Compatible 10GBASE-LR SFP+ Transceiver Module or equal	10302 or equal	30	\$942.00	\$28,260.00
		Salte Sile Sales Sile Sile Sile Sile Sile Sile Sile Sile				

\$173,650.00

The Pricing Pages contain a list of the Contract Items and quantities to be purchased.

Unit Costs must include pricing for the specified Contract Item # and its mandatory components as detailed in Exhibit B Specifications.

